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OA&S 5,400
OIHE OiYelX SAEe
600,000 22 1,200
ORIz EE 2484
1,000,00081+13] 1,000
O2% Al 229
300,000 x2H *23] 1,200
OzEERE Ad 50,0002 102 *43] 2,000
AR gyl X3 51,611 58,809 AT,198
= 16,305
= 35,306
101 @124H| 43,771 41,989 1,782
= 16,305
o 27,466
MU IIRINZZENSES 43,771 41,989 1,782
OWdE+=Ex 43,771
OoJlzs 76,9603 x2H 167 25,705
= 9,558
o 16,147
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2H: FUASY
M Z0I2E QIAME A
el ZelgkE QiEd 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
otfel syl 50,0002 x35/40+4H « 122 2,100
207 ARl 130,000 130,000
02 MAHHZHI 130,000 130,000
(OFS3= - b= R 130,000,000 130,000
405 AtaHE = 20,340 20,340
01 T ESFISHI 20,340 20,340
O&ErC 8,400
OUFH2LIH (242!X101 &)
300,000 +8CH 2,400
OFg 2UIH(IXICH)
300,000 *4H 1,200
(O [EaS=R=F=Frd= 1,200,000 *4CH 4,800
o&dJHE 7Y 11,940
oxy 320,000 +6H 1,920
(GXIDN; 320,000 *6H 1,920
OO0ISAE 200,000 *6H 1,200
OLEI&(ESH) 6,000,000& 6,000
OH20], Ha=el S 150,000 «6H 900
HH2LIH(FUASH) 421,647 274,952 146,695
el 2| 311,4%4 163,674 147,820
QIA2HH(FRASA) 311,4%4 163,674 147,820
101 21AH| 304,984 163,674 141,310
01 2= 166,334 163,674 2,660
OA22R+E
12,3213 45| 2Hx25E « 12 166,334
02 JIEtME = 138,650 0 138,650
OS2 (A=) 104,400
OAIZHIE DM OF= (0HLIA )
2,400,000« 1H* 122 28,800
OARIEEHADIA DS (& ER)
2,100,000 ~3E 122 75,600
QItE+¢ 10,560
OB <At 40,0002 x4 * 122 1,920
O MAHA 20,0008 x4 x 122 960
OSMAHA 60,0002 x4 122 2,880
OA M XHA 100,000& x4~ 123 4,800
(©FSRU= ] 140,0002 ~4&x 123 6,720
O ] 3,831
OAIRIEEHADIA OFS(0HLIAM)
2,200,000 +B4%*5 1 122 1,109
OAIRIEEHADIH DS (& E A
1,800, 0003 *84%+5%+3E « 12 2,722
OAIZRAZR5E
9, 1602 x25AI 24 B <123 10,992




2H: FUASY
Hu: HESAAY|(FUASA)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O9 It &l 2,147
OAIZHAIIH D2 (HLI)
26,000,000 « 12 /122 84%+1/30% 10! 607
OAIRIEEHADIH DS (A EAL)
22,000, 0003 *3% /122 x84%+1/30% 10! 1,540
204 ARt AH 6.510 6.510
02 M=a2xH| 6,510 6,510
OAIZMERZ DI Ot=
155,000 x35/40+4H » 128 6,510
=38l 110,153 111,278 A1,125
Jl2dHl(FeAsa) 110,153 111,278 A1,125
201 er2 3| 42,953 44,078 A1,125
01 AtR2t2|HI 42,953 44,078 AT1,125
ogegt+=ZHI 10,505
OsdMa=d 10,505,000 10,505
o=gH| 8,000 x26Z 134112 32,448
202 04l 62,400 62,400
01 =LHAHI 62,400 62,400
OZUobl 200,000 x26H * 123 62,400
203 2=l 4,800 4,800
MU FA2S LRSI 4,800 4,800
ORMEIE = 400,000 123 4,800




